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Izotermický 

𝑊𝑜𝑏𝑗  =  𝑛 ∙ 𝑅 ∙ 𝑇 ∙ 𝑙𝑛
𝑝1

𝑝2
   𝑊𝑡  =  𝑛 ∙ 𝑅 ∙ 𝑇 ∙ 𝑙𝑛

𝑝1

𝑝2
  𝑄 =  𝑛 ∙ 𝑅 ∙ 𝑇 ∙ 𝑙𝑛

𝑝1

𝑝2
  𝑻𝟏 = 𝑻𝟐 = 𝑻 

𝒑 ∙ 𝑽 = 𝒌𝒐𝒏𝒔𝒕. 
Izobarický 

𝑊𝑜𝑏𝑗  =  𝑝 ∙ (𝑉2 − 𝑉1) 𝑊𝑡  =  0   

𝑄 =  𝑛 ∙ 𝐶𝑣 ∙ (𝑇2 − 𝑇1) + 𝑝 ∙ (𝑉2 − 𝑉1) 
 

𝑄 =  𝑛 ∙ 𝐶𝑝 ∙ (𝑇2 − 𝑇1) 

  

𝒑𝟏 = 𝒑𝟐 = 𝒑 

𝑽

𝑻
= 𝒌𝒐𝒏𝒔𝒕. 

Izochorický 

𝑊𝑜𝑏𝑗  =  0  𝑊𝑡  =  𝑉 ∙ (𝑝2 − 𝑝1)  

𝑄 =  𝑛 ∙ 𝐶𝑣 ∙ (𝑇2 − 𝑇1)  
 

𝑄 =  𝑛 ∙ 𝐶𝑝 ∙ (𝑇2 − 𝑇1) − 𝑉 ∙ (𝑝2 − 𝑝1) 

𝑽𝟏 = 𝑽𝟐 = 𝑽 

𝒑

𝑻
= 𝒌𝒐𝒏𝒔𝒕. 

Adiabatický 

𝑊𝑜𝑏𝑗  =  𝑛 ∙ 𝐶𝑣 ∙ (𝑇1 − 𝑇2) 

 

𝑊𝑜𝑏𝑗  = 𝑙𝑛
𝑛 ∙ 𝑅 ∙ 𝑇1

𝜅 − 1
∙ [1 −

𝑇2

𝑇1
] 

𝑊𝑡  =  𝑛 ∙ 𝐶𝑝 ∙ (𝑇1 − 𝑇2) 

 
𝑊𝑡  = 𝜅 ∙ 𝑊𝑜𝑏𝑗  

𝑄 = 0 
 

𝑸 = 𝟎 

𝒑 ∙ 𝑽𝜿 =  𝒌𝒐𝒏𝒔𝒕. 

𝑻 ∙ 𝑽𝜿−𝟏 =  𝒌𝒐𝒏𝒔𝒕. 

𝑻 ∙ 𝒑
𝟏−𝜿

𝜿 =  𝒌𝒐𝒏𝒔𝒕. 

𝜅 - Poissonova konstanta (izoentropický exponent) 

1 atm. 𝐶𝑣  =  
3

2
𝑅 𝐶𝑝  =  

5

2
𝑅 

 𝜅 =
𝐶𝑝

𝐶𝑣
> 1 

 

2 atm. 𝐶𝑣  =  
5

2
𝑅 𝐶𝑝  =  

7

2
𝑅  𝐶𝑝  =  𝐶𝑣 + 𝑅  

více atm.  𝐶𝑣  =  3𝑅 𝐶𝑝  =  4𝑅 
 

  

 


